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1. a) A conffactor has to take a decision whether to bid for
decision criteria is based on NPV. The project
5 years. Based on the tender conditions and the
is generated:

i. MobilizatianAdvance:9%
deducted in 3 equal instalments,

ii. C.E Advance: 10% of project

Note: 1. Attempt any 4 Questions
3. X'igures to the right indicate marks

2. Assume

materials brought to site is
accorurted in proportion
Advance will be
starting from the 2'd

Retention
Security will
retention
period.
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3. a) Summarized below are the income and expenditure forecast for,

Plant costing Rs. 5,60,QQ0_.

delivery and the balap.ge-$

Advance tax oft
Period of medit
Lag in
Lag in pa,

You are required tq
there was a cash
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.on an average % month
payment) - I month
cash

ion is carried out throughout the year)

major breakthrough for lndian infrastructure projects. Explain
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Write Short notes on

a) Equity and Debt

b) ARRwithanexample
c) Principles of accounting

d) Wealth ma"ximization vs profit maximization

Explain How BOT is effective model for financiqgj
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the project parties.

6. a)

b) The estimated cost of an expressway to
rnegacities is t IAOO crores. The project is
life ofthe project after vehicles start
scrapped offand replaced. The
which the project becomes
loan of d 500 crores (to
repayed backbetween the years 6-
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